,— N S S S S S S — -y,

=
\
gE
£
M = =
£ ~ [ |
! ! O £ ~
. i 2
i | ~ I A I
L =g
< <
| & Sle
1 I (4D} o
A F=4 B Y [©]
m “ brn Il
! i | o = :
3 s <
1| E | =
i | (®)} £ N Y
A X < =[]
! o < ”
e o I I
1 [ -
! m o 3 ®
] a e | it
1 < <C
i 0O Q
i B4 B (o]
I 1
R
i i - ~ P
| “ o 1 7o) Y I
LS RN ‘ %
] 1 d N
' =
I I L
] 1 ,\
I 1 c
A = [~]
P = S
i i I . o I
.. 1w \n — ©
. o e e
e — s
m m < ” <
© ) <
2 3 ] [+

\_-—--—-—----—-—--------—-—----—-—----—-—-—-—----’



’_———-—————--—-—-—-—-———-—-———-————-———-—-———-—-——-———-——-————‘

-~
NaAMC &
MATH
Score: ____ . Date: _______ .
Ginding the Area of Polygons WorksheeD
Answers

1] Bl e

5.71n 4.4m 6.7 mm

8.9in 4.4 m 12.2 mm
Area = 50.73 in? Area = 19.36 m? Area = 69.68 mm?
[e] 2
11.9 ft / 1.7 cm
15.5 ft 3.9cm =
Area = 184.45 ft? Area = 3.315 cm? Area= 1,111 in?
&
2m
8m
@,
Area = 662.34 yd2 Area = 16 m2
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